Algebra 1 Chapter 1 Pre-Test

Write a variable expression for each word phrase.

(Dresiemmss :

he 8’the product of a number and 4.
G+ n»eLf] i8 + tn /
@The 9the sum of k a?"d 7.
Switeh k+7 -9

3.) The difference between 12 and b. ) C k+ 7) ~ 6]

4.) The quotient of fand 11.

ofcs H 5] Telo)]

Simplify each expression.

1)3x22+16 +4 - 3

2)8 + [(24 + 4 x 10) - 2]
J —
s+ ((6 n—lo)'zj

Do bt
1

2. 3(8 + 29
VAN
lz- 34 +8)

IZ"3?’£IZ> = |12-72 =72 ~72

|2 - 2lb = '264’




@68 - 12 +V5l+ 3 x2°
Evaluate the expression.
@8a + 2(b - ¢c)?, fora=3,b=7,andc=4
ooV
8(3)+2(71)
3(3) + 2
e(3)+ 29 = A1+ 18 ’E

2)3x -2y -y@9 - 4), forx=4andy=2

é){d]e,f{ 6e, ford=6,e=2,f=3 d.q_-F OL* ‘F
= q%ex
(628 + 6(z)°
(&)(2)(3) + ¢(9)
3L+48 = w

4) £ -3, fora=7,b=8

Compare. Use >, <, or = to complete each statement.

@-6.98 ~ _-6.99

2)-3___ |8



4)2 -9
Determine whether each number is rational or irrational. In addition, name the set(s) of numbers
to which each number belongs.

@6.779'__.:l Qo\i—{mwl ~ Jerminal decimal
@0.567567567... f&u‘?'/m,(’ rgpm-]—bﬁ a(.zc;rm./

3) 9

@D Rutind) - whel, indeger
5) -3
“ lVrA}v'M«O

7.) 16

(8) 0 irm’tuvl‘ﬂ - et paslect sgpuare
@5 Q) - Frockin

Find each sum. No CACcuLAT (l,/(

@'8 *8) = —ig Samg —> Sum

2)9 +3

@-6 +\\g = 72 d i frend = diFRren
g-L&=z

4) 4 + (-11)



FInd the difference of each. N o CALLULATIE //

Gra[ ol

2)-9 -4

Find each.

No CArLcuLATo.t_l (

Guo - 2
@ oy - ()4) 7| €3

(-9)(4)

[)8)(2) @D Lo M
@)? - 3 .1, "l'

J
e 48
3 3|1

EN [}

6.) 84 + (-12)

—
@ (—%4(95) + % - E



Evaluate each expression.

@-abzfora=2and b=-3
2w - —20a) = 18/

2.) -(-w)* forw =3

3

=

@ x*+xyforx=4andy=-5 Pf _(,_0
,G{) + (4)6-5)
—64 + (-20) [—8‘/7

Simplify each expression.

%;%+4a .
(E*) (%)
_g- O, 0 -.| Aa t '8}

2.) 6(x +3)-4x

N

quég:é) [—42L-36]

-9 [2b-28
-9- 28' -8+ (-28) = ~36C

4.) (4% + 1)



Name the property that each equation illustrates.

COWMV"W“:"'e
1) (4 5)2=4+(5-2) N .
‘(—; 0L§Soc,(¢:l't W@
INSSoc (e~ vé _
[Mk‘g
2.)23+54+27=23+27+54 -
. | Nuesse
Commitnhive A (5-]7;Lu7t;ve

4) %4(3/2)=1 .
(NnveSSe_

5) 3(a+b)=3a+3b &(s*\rl bu“‘l\fe—



Label each quadrant.|Next, plot the points below.

1.V A 6, -4)
) B (-7, 2)
C (0, 8)

Z).D (3, 9)
@ ('7’ '1)
) F (-4,0)




